HIEZo| et 2 IS RIot0 At SE 0| FAHE S & = USLICE ZA29 REE P

Uy
Jon

12I5H = O[&3HA|7| HFELICE. KP 2001

TI-P137-18

spi ra} %T IssueE)i
sarco KR 2001

BSA6T

W22 A AEHHL O|F WR 2 (BSAT)Z HROR 510 AR, JhA, O3, 834 U 42 AIAO) ALSE 49U
BZBSATE % 238 2211, 42 43|, BSAS B [|AT 2 LAE(0f QICH BSAT, BSAS| 72 I HHZCIZA| AeiA}

HAZLAL MERAIRF SO0i| TS AMM[SH LHE-2 2 pagel| EE
ZERSIC
@ H=

O| A2 Pressure Equipment Directive (PED)2| 22712 2 2 A| €0t3.9| 50| 7+&3}Ct

® 443N
BSA1, BSAIT= HIZYA HE Al84A], BSA2, BSA2T, BSA3, BSA3T, BSAGT, BSA64AT= EN 10204 3.1 & G2AI2]

S50| 7+S3HL 2 Al B7[8HOF BT

e

First for Steam Solutions Page 10f 10

EXPERTISE ‘SOLUTIONS ‘ SUSTAINABILITY



sp! ra)(sarco

| E& 32
i Castiron SGiron Cast steel Stig\ee‘ss Staciglsetssstzteelel/
=l=1g=1) BSATT BSA2T BSA3T BSA6T BSAGAT
B2 A B LA PN16 KS10 PN16 PN25 PN25 PN40 | ASME150 | ASME300 KS20 PN40 PN40
DN15
DN20
DN25
DN32
DN40
DN50
=4 DN65
DN80
DN100
DN125
DN150
DN200
DN250
DN15
DN20
DN25
MEHARQF  DN32
R-PTFE  DN40
HHAIE  DN5O
DN65
DN80
DN100
BSA - T C|AT ZA
e Cast iron SGiron Cast steel Stig\;ss Sta(i:r;lsetssst(seteelel/
odal BSA1 BSA2 BSA3
B+ A B A PN16 KS10 PN16 PN25 PN25 PN40 | ASME150 | ASME300 KS20
DN125
Py DN150
DN200
DN250
AﬂEHAl—Ok DN125
'ﬂ;%g ©  DN150
flag  DN200
DN250

TI-P137-18 / ST Issue 8

BSAT, BSAIZX M AE

Page 2 of 10



sPIra)(SGI'CO

@ A= (mm) FAH kg 2

FA (kg)
A B C BSA1
4 BSAIT | BSA3 BSA3 BSA3 BSA6T
PN KS10 | KS20 | ASME | ASME BSA2 | (DIN) ASME | ASME300| BSA64T
150 300 BSA2T ANSI 150 |  KS20 PN40
DN15 130 133 152 108 152 205 125 4 4 5 6 4
DN20 150 153 178 17 178 205 125 4 5 6 7 5
DN25 160 163 200 127 203 217 125 5 6 8 9 6
DN32 180 183 217 125 7 8 8
DN40 200 203 224 165 229 243 200 10 1 10 11 11
DN50 230 229 259 203 267 243 200 12 14 12 15 14
DN65 290 293 263 200 16 19 19
DN8O 310 309 304 241 317 287 200 21 26 25 29 26
DN100 350 349 340 292 256 383 315 36 44 M 49 44
DN125 400 395 16 315 52 64
DN150 480 479 428 445 450 315 75 88 94
DN200 600 592 537 559 622 500 145 180 193
DN250 730 763 500 180
*(BSA2/BSA2TO|2t SHE=)
|
TI-P137-18 / STlssue 8 BSAT, BSAHIZ R Al AEWHH Page 30f 10



sPIra)(SGI'CO

.AlE I_A-IE
DIN 12266-1 %4 & Rate AZ 2L

® Kvit
o DN15  DN20 DN25 DN32 DN40 DNSO  DN65 DN8O DN100 DN125 DN150 DN200 DN250
° ") (347) (1) (12" (1% (27) (2)5") (37 4”) (5”) 6”) 8" (107
Kv 4 7 12 19 30 47 77 120 193 288 410 725 1,145
Cv(UK) =Kvx0.963 Cv(U ) Kvx 1.156
2 BSATT. BSAZT, BSA3TC| Kvzt L 92F EAZFS ofafie] ‘BSAT M2 2 Al AEHE 2k H|0|E2 22 5IC}
@ BSATHZ X Al AEHHH Q3F[|0|E]
22 BSAT
< DN15 DN20 DN25 DN32 DN40 DN50 DN65 DN8O DN100 DN125 DN150 DN200  DN250
SHE2! 51 SHE2! 5|01 [HE Kzt (20°C & 220l|M EN 60534-2-30] 2} Bl A ESH 21
0 0 0 0 0 0 0 0 0 0 0 0 0 0
0.5 1.2 1.2 1.4 2.2 4.4 4. 5.6 10.4 12.0 21 28 66 110
1 1.7 1.7 2.0 3.7 5.0 5.0 7.0 1.5 14.3 23 30 81 140
1.5 2.7 2.9 2.9 5.0 5.5 6.0 9.2 13.6 24.5 26 33 97 150
2 3.6 4.0 4.6 7.9 7.6 7.2 11.6 16.3 34.1 42 46 m 165
2.5 4.4 5.3 6.4 10.6 11.0 9.7 12.4 18.5 59.6 67 65 149 190
3 5.4 6.6 8.5 13.8 14.7 14.1 13.0 211 86.2 94 90 199 225
4 10.6 17.0 22.6 24.4 25.2 245  123.0 140 152 302 330
45 1.2 18.3 24.4 29.4 32.5 29.0  139.0 181 177 355 451
5 11.9 19.6 27.2 37.0 43.6 39.1 164.1 185 216 403 460
6 28.9 46.2 60.2 61.0  179.0 220 264 455 600
6.5 29.1 47.0 63.0 69.0 186.0 230 288 480 641
6.7 29.3 47.2 64.3 73.0 235 293 487 656
7 65.9 78.0 241 305 495 678
8 71.2 90.0 259 337 507 738
8.5 74.6 92.0 348 522 760
9.5 99.0 369 793
10 101.6 805
10.7 827
@ KvE m?/h Ct|e| B I|{2f0 2 HEt Z:QURH A AEEAY
Q=Kv x 3AP DN15 ~ DN80 2.0 bar
DN100 ~ DN125 1.5 bar
02|7|A-| DN150 1.0 bar
Q =21|R(m?/h) DN200 ~ DN250 0.8 bar
AP=212f(bar) BSATE 2(2] 22} O A0l M AHESHH AS1 20| Ealigh 4~ QlCt
@ =0 340 M2 QY S (201 S0lIM)
BSAT - DN15 BSAT - DN20
6 7
5 ] 6 =
/ 5 -
w5 4 1 54
2 3 / : 3 //
2 /, 2 L
1 1 —_—
0 0
0 1 2 3 0 1 2 3

’—oh
n
o
10
o
gl
’—o\‘
n
or
10
ton
el

TI-P137-18 / ST Issue 8 BSAT, BSA#l=Z= 4 Page 4 of 10



SP'ra)(sarco

BSAT - DN25
12
10
:
2
0
0 1 5
BSAT - DN40
30 Pm—S
25
. 20
¥ i
10
5 ey
0
0 1 2 6.7
SHEZo| 5T
BSAT - DN65
80 ]
60 —
N 40
X
20 ——
0
0 2 4 8.5
#eglo| sz
BSAT - DN100
200 —
150
bl
'\; 100
50
/
0
0 1 3 4 6.5
SHERO| 3|Ta
BSAT - DN150
400
|
300
N
T 200
100 =
0
0 2 9.5
£19| 3
BSAT - DN250
900
<5 600
< 300
/
0
0 2 10.7

BSAT - DN32
20
|
15 =
e /
o 10 =
5 //
0
0 1 2 3 4 5
ISEEIETIES
BSAT - DN50
50
"]
40 7
A
A 30 /
>
< A
20 /
10 L
_./
0
0 1 2 3 4 5 6.7
=glol 574
BSAT - DN80
100
80
¥ 60
< 40
20 I
0
0 2 4 6 8 10
e glo| 5x4
BSAT - DN125
300
¥ 150 _—
50 L~
0
0 2 4 6 8
Mo 5174
BSAT - DN200
600
/_-——
]
400 —
A8
< 200 ]
/
0
0 2 4 6 8.5
=S| 574
UHtMOl Ty C|lAT
BSA1, BSA2, BSA3
100
80
o 60 //
< 40 =
20 /
0
0 20 40 60 80 100

20| 51714(%)

for

TI-P137-18 / ST Issue 8

BSAT, BSAHZ2 =2 M AEHMH

Page 50f 10



sPIra)(SGI'CO

@ A& (BSATT, BSA2T, BSA3T, BSA1, BSA2, BSA3)

we mzo BSAIT, BSA2T, BSA3T, BSA3
BSA1 BSA2 DIN ANSI
. Body Castiron SGiron Cast steel Cast steel
EN-GJS-250 EN-GJS-400-18-LT 1.0619+N (GSC 25N) ASTMA 216 WCB
Steel (DN15-DN80) Forged steel (DN15-DN80)
) Bonnet SGiron DIN 17243 C22.8 ASTM A 105
EN-GJS-400-18-LT Steel (DN100-DN200)  Cast steel (DN100-DN200)
1.0619+N (GSC 25N) ASTMA 216 WCB
3 Seat Stainless steel AlSI 420
Metal Stainless steel DIN 17440 X 30 Cr13
4 Disc Soft seat Disc Stainless steel DIN 17440 X 30 Cr13
Insert R-PTFE 25% carbon filled
5 Bellows Stainless steel DIN 17440 X6 Cr Ni Ti 1810
6 Stem Stainless steel AISI 420
7 Handwheel Pressed steel BS 1449 CR4
8 Stem packing Graphite
Bonnet studs Steel DIN 17420 24 Cr Mo 5 Steel ASTM A 193 B7
9 Bonnet nuts Steel DIN 17420 Ck 35 Steel ASTMA 192 2 H
Bonnet bolts Steel DIN 931 Gr. 5.6
10 Body / bonnet gasket Graphite laminated with stainless steel insert

1

DN15-DN80

Steel M8 x 14 mm BS 3692 Gr. 8.8

Locking "5 1100-DN150

Steel M8 x 20 mm BS 3692 Gr. 8.8

screw
DN200-DN250

Steel M12 x 20 mm BS 3692 Gr. 8.8

AEZ3F E0[E (REZHEN SHT)

BSATT, BSA2T, BSA3TS|

e

AER3 BJ0E 242 I3 LA 720]

QACE. Off Hoi| Lot Q= #& HELI 2ES

H2k5iH gt

HEM=

BSAT

i
fob
I

11

=2 g% =E
DN15-DN80 M8 x 50 mm
DN100-DN150 M12 x 75 mm
DN200-DN250 M12 x 100 mm

6
8
\at S
N
10 DN150
1
Q I
MEYARRI- 214 CIAT O]
|, 25bar APDNI25
81:;1 17 bar APDN150 6"
Q Atg 10bar APDN200 8°
o
6 bar AP DN250(BSA20H 3Ht)

TI-P137-18 / ST Issue 8

BSAT, BSAHZ2 =2 M AEHMH Page 6 of 10



sPIra)(SGI'CO

@ ZHZ (BSAG6T, BSA64T)

HS 2EY BSA6T BSA64T

. Body Stainless steel Stainless steel

EN 10213 1.4408 or ASTM A351 CF8M EN 10213 1.4408 or ASTM A351 CF8M
) Bonnet Stainless steel Carbon steel DN15-DN80 DIN 117243 C22.8
EN 10213 1.4581 Carbon steel DN100 10619+N (GSC 25N)

3 Seat Stainless steel EN 10213 1.4408 or ASTM A351 CF8M

4 Disc DN15-DN40 Stainless steel EN 10088 1.4571

DN50-DN100 Stainless steel EN 100222 1.4571

5 Bellows Stainless steel DIN 17440 1.4571

6 Stem Stainless steel EN 10088 1.4571

7 Handwheel Pressed steel BS 1449 CR4

8 Stem packing Graphite

9 Bonnet studs Stainless steel A4-70

Bonnet nuts Stainless steel A4
10 Body / bonnet gasket Graphite laminated with stainless steel insert

1

DN15-DN80

Steel M8 x 14 mm A2-70

Locking 1y 100-DN150

Steel M8 x 20 mm A2-70

screw
DN200-DN250

Steel M12 x 20 mm A2-70

AEZ3F 20[E (REZZHEN )

BSAGT, BSAGATO|HEE L{EO= AE 2
2|0jE] 2242 fSH LIAtA 20| ULt O
HO| Lpe} Q= H= HEQF EEE B3l

=

e,
=2 g2 2E
DN15-DN80 M8 x 50 mm
DN100-DN150 M12 x 75 mm
DN200-DN250 M12 x 100 mm

sz =
7
BSAT
6
8
9
2
5
10

TI-P137-18 / ST Issue 8

BSAT, BSAHZ2 =2 M AEHMH

Page 7 of 10



sPIra)(SGI'CO

@ U /2T oA
_ YR Al 2SR
Key:[[ | Zols=Atgset 4 gt me—=
2 : PMO= APMX(RITHAI21)0l] 2l AEHSIC DN15 -DN80 2.0 bar DN150 1.0 bar
N = = == DN100-DN125 1.5bar DN200-DN250 0.8 bar
BSA1T, BSA1 o 300 -
i T~
ol 200 S \
=
— A - A Z2X|A| KS10
100 5t \ B - B =aix|4| PN16
B7|5M
0 ! Al B
2 4 6 10 12 14 16
&2 bar g
SAAA R PN16 KS10
Z|HSEL = (PMA) 16 bar g 14 barg
Z|USE 2L (TMA) 300C 220C
ZICHALE = (PMO) 12.9 bar g 11 barg
- AR AE 230C 220C
ZHALE 2 ==
HANEZE(TMO) HEAIE 300C 220C
ZAANEBRE -10C -10C
TUAEYH 24 bar g 20barg
BSA2T, BSA2 PN16 PN25
© 350 T & 350
Y 300 N u 300
200 \\ 200 \
100 — | =1 100 23
&715 e
0 f 0 .
0 2 4 6 8 10 12 14 16 0 5 10 15 20 25
42 barg = barg
A EAZA PN16 PN25
2 EUZ(PMA) 16 barg 25barg
2| 8R2LE(TMA) 350C 350C
Z|CHAE = (PMO) 14.7 bar g 22.3barg
- HEAAE 230C 230C
_n_l: A %% =
HAATE =5 (TMO) ol ALE 350C 350C
LA 2 -10°C -10C
YA 24 barg 38barg
BSA3T, BSA3 (DIN) PN25, DN200 PN40, DN15 - DN150
©400 — & 400 <
" " AN
61300 ~ &1 300 ~.
200 \\ 200 — \\
Z35} 3
100 =|=M 100 %iltl’— AN
0 ! 0 : .
0 5 10 15 20 25 0 5 10 15 20 25 30 35 40
212 barg 2t barg
A EAZA PN25, DN200 PN40, DN15 ~ DN150
25 4= (PMA) 25barg 40barg
2 B82LE(TMA) 400C 400°C
Z|HALE A (PMO) 23.2barg %30.4 bar g
- HZAE 230C 230C
_._E A 29 =
B 2=(TMO) HIE AIE 400C 400°C
ZAANEBRE -10C -10C
TN A 38barg 60 barg

* U AN EZFHYE A Z2| Z{HAFS Y22 27 bar g0t

[S)= R e

TI-P137-18 / ST Issue 8

BSAT, BSAHZ2 =2 M AEHMH

Page 8 of 10




sPIra)(SGI'CO

@ Y= / 2 ot
_ FHRAE A| ZICHo| 82t
: Hol A ABE 4 BT re
Eey [ o OI e DN15 -DN80 2.0 bar DN150 1.0 bar
: = 2|CHZ oI5l MIBHE
F 1 PMO= APMX(Z{CHAR2) 0 J3 AR, DN100-DN125  1.5bar DN200-DN250 0.8 bar
BSA3T, BSA3 (ASME)
o 425 ——
s C
ouﬂ 300 \ \‘
\ N C - D =ahx|Al ASMEI50
200 A C - E Zx|Al KS20
100 NI N\ C-F S2X|Al ASME300
z7|12M N
0
29 D E F
0 10 20 30 40 51
23 barg
e e Bl ASME 150 ASME 300 KS20
Z|CH5E Y= (PMA) 19.6 bar g 51 barg 34 barg
Z|tHo| 8 2= (TMA) 425C 425C 425C
Z|HAFE Y (PMO) 14 bar g *41.6 barg x30.7 bar g
_ HZAE 230 230°C 230°C
Z|HAFE L2 (TMO
Sl ( ) HE AE 425C 425°C 425C
Z{AAIB2E -29°C -29°C 0cC
YA 31barg 77 barg' 50 barg
* AE A ETHHYE HFQ| ZICHAFE 2 27 bar gO|Ch.
BSA6T, BSA64
o 400 \
H 300
ol N\
200 e >
100 3t ~
EEY N
0
-10
0 10 20 30 40
& parg
A A2 PN40
25 L= (PMA) 40 barg @ 50C
2|tH518-L2E (TMA) 400°C @ 25 bar g
2| A E/AMNEBR2E -10C
i HZAE 29.8 bar g @ 236C
Z|THAFRSE2 (PMO
HATSEEPMO) ERS 27.0 bar g @ 230°C
A AE 400°C @ 25.6 barg
Z|THAFR 25 (TMO
o ( : HEAE 230C @ 27.0barg
Z|AAER2E -10C
- On/off AF2 A| PMO7IA|
ARSI DN15-DN8O 2 bar
(APMX) ORFRE A
REZEA DN100 1.5bar
TUARAY 60 bar g
TI-P137-18 / ST lssue 8 BSAT, BSARIZ 2 Al AEUH Page 9 of 10




sPIra)(SGI'CO

@0HHIHE, M%) U HH| 2|

A3 Al FOIAf3

o

SA0f| 221 E St e | Aot YR[ot0] 77t S 2 =E d[oil HEZ0| Aot 2|20 == Bt

HZel 7|

Ol HlE2 ME-80| 7150ttt A Het 22|15 510] 1|7 [oh B2 Oeh YESHA 213k GiCt

Of : DN25 ALFO[ZA AT BSA2

T A PN16 EE= PN25
% Ofehe] Toj Lkt iz 2t 2

= = = %
A4S 2 tot= EF Wty LA IS AREoHOF BT,

=4 DN125 DN150 DN200 DN250
212 (bar) 25 17 10 6

@ YH|IEE

SE /s GHIRE2 A2 AU R AR oM, o2 BAE BR2 GHIRE2R
SEEA YL

HHIEEEA

Body/bonnet gasket and stem packing 10, 8(2 off)
Stem and bellows assembly(state if BSAT or BSA) 5,6,8,10 8
Disc(and optional disc where fitted) 4810
-state full description of the vavle Bl

BSAT 6

S
10
5

m————
- S~

W2AE: TEL(02)3489-3489, FAX 525-5766 B&4 1 TEL(032)820-3000, FAX 032-811-6215 WStTALIO|H| }\f = 20|E21ZA(LRQA)
OIIATIOIAA AL (F) e s

O ZEE[SO9001(FEEY), ISO14001(2HE8EY), OHSAS18001(REEZ), ISO50001(GIHA|IEY) 2





